Algebra 3

Additional Review

1) A saline solution was made by mixing 2
gal. of a 86% saline solution and 6 gal. of
a 46% saline solution. Find the
concentration of the new mixture.
A) 15% B) 56%
C) 78% D) 70%

3) 9 gal. of a saline solution was mixed with
11 gal. of pure water to make a 18% saline
solution. Find the percent concentration
of the first solution.

A) 40% B) 60%
C) 35% D) 52%

Solve each equation.

4) -11=3n-3-5
A) {-7} B) {-1
C) {-10] D) No solution.

Name

Date

ID: 1

2) Mark wants to make a 9% acid solution.
He has already poured 2 L of pure water
into a beaker. How many L of a 15% acid
solution must he add to this to create the
desired mixture?

A) 2L B) 5L
C) 4L D) 3L

5) 33 -—n=-2(-6-"7n)
A) -3 B) {-4]
C) {-14} D) {11}



6) —14n - 12 =-7(2n - 3)
A) {—5} B) No solution.
C) {16 D) {2}

Solve each inequality and graph its solution. (Write solution in interval notation)

7)3<-1-n+4

A) n<-23: Dttt

B)I’l<—12 :::$ :

9) —7(-2 +3x) < -7(1 + 4x)
A) x<-3: ¢ S ———————+

B) x <10 qpmpmpm—t—————t

-4 -12 10 -8 -6 -4

C) x<6: <o >
2 4 6 8 10 12

D) x<-9! < A+

8) 33— 8m >m + 6(~1 - 8m)

Ay m>-17 iyt o o
...... & >
6 -4 -2
B) m<-1: &
- 4
6 -4 -2
C)m<-9: 1 _
———® >
12 210 -8 -6 -4 -2
D) m<-9: < o
< D—+—————+—
12 210 -8 -6 -4 -2



Solve each compound inequality and graph its solution. (Write solution in interval notation)

lm-§>]mn6xs—60

A) x<6: S—i
-8 -4 0 4 8
B) x=-10: <@g . o
-8 -4 0 4 8
C) x>20r X = -10 ! i@+ + P
-12 -8 -4 0 4
D) x=s-lorx>8: & ————————+D >

H)§>Om8+n<3

A) n>0orn<-5: S o
Sl A
-9 -8-7-6-5-4-3-2-101 2 3 4
B) n>-6: o
T U >
-8 -4 0 4 8
C) n=s-8orn>-6: o——&
< — >
-12 -10 -8 -6 -4 -2
D) n<-9orn=7: o —@ >
< A4 T T v o
-12 -8 -4 0 4 8 12

12) 9+18a>1la-12and -2 + 8a < 18 + 7a

A) a<20: .
Y N/
-8 -4 0 4 8 12 16 20
B) -1<a<12: = >
-6 -5-4-3-2-101 2 3 4 5 6
CO)a>-3: + + o N
—t= >
-8 -4 0 4 8
D) -3<a<20: S &
T

~J
-4 -2 0 2 4 6 8 10 12 14 16 18 20



Solve each inequality and graph its solution. (Write solution in interval notation)

13) [x-4|=10 14) |1-95| > -26

T S I A R S
15) |8n+7| =73 16) |8n+1|-2>5

R T S S VIS

17) 7+9|4n +7| > -38

-8-7-6-5-4-3-2-101 2 3 4 5 6 7



Answers to Additional Review (ID: 1)

1) B 2) D 3) A 4) B
5) A 6) B 7) C 8) A
9) A 10) C 11) A 12) D
13) x=14orx=-6: &———+++++++@ >

14) { All real numbers. } :

-8 -7-6 -5-4-3-2-101 2 3 4

33

15) nz—orn=-10: @ —————————Q@ip
4 12 -8 -4 0 4 8
3

16) n>—orn<-1: OO =
4 -5 -4 -3-2-101 2 3 45 6 7

17) { All real numbers. } :

Y

-8 -6 -4 -2 0 2 4 6



